BOM for ZP500006-1.00

PartNo Description QtyPer |Position
ZP140041 Nut M3 ISO4036 3
ZP140058 Washer M3 Crinkle S/S 3
ZP140135 Screw M3x5 Pan Pozi A2 ST/ST 7
ZP140136 Screw M4x5 Pan Pozi A2 ST/ST 14
ZP140137 Conn SMA Female B/Head 50R 2
ZP140138 Conn RJ45 B/Head 1
ZP140139 Duplexor 850/1900MHz Cellular/PCS USA Full Band 1
ZP150001 Cable Assy SMA Str Solder Plug to SMA Str Solder plug on flexiform 402L, 80mm Lng (A-Al) 2
ZP150002 Cable Assy SMA Str Solder Plug to N Type Str B/Head Solder Jack on Flexiform 402L, 180mm Lng (E-F) 1
ZP150003 Cable Assy SMA Str Crimp Plug to SMA Str Crimp Plug on LMR195 350mm Lng (A-C) 1
ZP150004 Cable Assy SMA Str Crimp Plug to SMA Str Crimp Plug on LMR195 400mm Lng (B-D) 1
ZP301213-X1 |277x Series Wall Mount Lid 1
ZP331212-X1 |277x Series Main Enclosure 1
ZP500005-1.01 |2765 Box Build 1




	ZP500006-1.00

